Top fixed with M6 bolts

45

28K

15
N

/‘ 500
C/<v
Height adjustable shelf
o
o]
<+
—
Height adjustable shelf
o
Height adjustable shelf ?
o~
° T °
B L
Height adjustable shelf
Q
(@)}
;r.} T \o\ 0 o o] T o
° o Lo f lep N
A
£L| —
A (1:3)
B
Materials

Raw hot rolled iron, burned in stove. Treatment- clear mat lacker.

"L" shape iron 45 x 30 x 4mm welded for vertical details.

Socle laser cut details and bottom shelf fixed with M6 bolts.

Top cabinet part fixed onto bottom cabinet part with M6 bolts.
Top shelves on both parts- modules fixed with M6 bolts.
Adjustable shelves adjustment with M6 bolts srewed in the shelf
sides- hole cut outs in apposite vertical profiles for height
adjustment- step 60mm.

Height adjustable legs-screws, M10 bolts, welded at the bottom.

—60

112

dxf file:
"8200-02-22001"

AN|

1
LN
i
(s2]

Bottom module top shelf
fixed with M6 bolts

Decorative socle and bottom
shelf, fixed with M6 bolts

Top module fixed with
M6 bolts to bottom
module

Welded height
adjustable bolts M10

Subject: Model "Sign" Area: A3 g’

Scale: 1:20 °

<

Iltem number: ... Case No: 8200 -

«

Drawn by: IP Date: 12.10.2011 |Drawing No: Rev.No |=
Page 1 of 2 Approved: Date: 12.10.2011 |8200-02-22001 )




D (1:1) D AA
\(\ ‘
28 - B 1

4— -

1 :
I\ l
- \

shelfi 813
T T
|
1
A% |
g 3 |
|
E l
E (1:1) N 1
E |
\( |
G 1
% |
_7'L2 n :

: ] |
K N ; £ :
= D6 ' \\4\ a
\?\ . N K( ) :

- |
l
g 3 |
|
’ Wrest in the side ! ||
¢ for M6 boolt . } Vaus
\ T\
|
G (1:1) |
H(1:2)
45
4
4 12
T 3 .
71 | %; =
Z 0 2
il -

30

B-B 1,6mm shelf top bended
over the edge in the front
o J J (1:1) 9
— /
LN
n
o e
LN
b}
of = -
=
IS = a \kmﬂ@\
> _ 32} N \
£ shelf 488 5 X
é N 3 S
. 1,5
o 30 \
[oa) 9| N
2
— o
° K
i K (1:1)
2 I N
A A i \
o i \
/ N\
o L /7 ,,,,,,,,,, \
// N\
| Z =3 3 i 5
# 3 // 9 S
2 N // _— SR
LA // NN
~ 3
?/ i \ N
/ N
| M 7 3 \)
=l / N [ 1
2 shelf 588 \ﬁ /
[~
2 <~ E 3 Y/|A#4—14,5—+#-9,5 9,5#—14,5—F
(=)} g of o] //
s | . ZEEN
=]
o
=N
o
: : L (1:1)
N
D10; H3mm T
M(1:2) | 4
N
""""""" 3
O N
N
\ /) \
: /
Subject: Model "Sign" Area: A3 g’
Scale: 1:15 2
Iltem number: ... Case No: 8200 -
«Q
Drawn by: IP Date: 12.10.2011 |Drawing No: Rev.No |=
Page 2 of 2 Approved: Date: 12.10.2011 |8200-02-22001 )




